B74E ERHEXRS AR TOvIXE FRAINEE K

No. | 15 |5l it X [ B # WE T KR S =R Fok L S
1 5 3 |k ik LEBF|K K 2 2 1 4 5 6 3
2 5 2 |k ¥k ZF |K Ek 2 6 2 3 1 4 5
3 3 4 |k ik VEZF|T—TARTAYY 3 — 2 1 3 — —
4 8 1 |vh — BEBF 2 5 3 1 5 3 1
5 8 2 |Hvh — TF 2 3 1 3 1 5 5
6 8 3 |Hvh— LEBRTF 3 1 3 1 4 5 5
7 3 1 |F=x REBF 5 5 2 3 1 4 6
8 3 2 |7=X BERF 4 5 1 3 2 4 6
9 5 1 [R—k BEBF|MRFEMHETHT 3 1 3 2 4 5 6
10 1 1 |R—k BEBF|L T ILAAIL 2 2 4 1 3 ) 9
11 5 2 |R—k REZF|fEFHE9AV VTN | 4 3 1 2 4 5 6
12| 3 | 2 [R=—*F RELF [T ILRAIL 2 3 4 2 5 Exot 1
13 1 2 |R—k BEEXF|[ooTLRAL 2 3 1 4 5 2 6
14 5 3 |R—+k VEBF|REFERHEANATN | 3 3 1 2 4 - 5
15 3 3 |R—k LEBF|ZTILAAIL 2 1 2 3 5 6 4
16 1 3 |HR—k DEBF|VUTIVAAIL 2 2 1 5 4 6 3
17 5 4 |R—k VEZF|RFEMEIANVTL | 2 1 3 2 4 - 5
18 3 4 |R—F LELF|(ETILAAIIL 2 1 2 5 4 - 3
19 1 4 |R—k DERF|VT VAL 3 1 3 4 5 — 2
20 8 1 [kosr— BEBF 1 1 3 5 5 2 3
21 8 2 |hvsr— REZF 1 3 2 3 5 1 5
22 8 3 |hwsr— DEBRF 1 2 5 3 5 1 3
23 8 4 |kwsr— DEZF 1 2 1 3 — 5 3
24 1 1 [Roooy REBF 3 - 5 3 4 1 2
25 1 2 |Rovy BERF 3 - 2 — 1 — —
26 1 3 |Rovy DEBF 3 6 5 3 1 2 4
27 5 1 |\b—hR—L |REBF|6AH 2 3 1 1 5 5 3
28 5 2 |NL—HR—)L | RELXF|6AE 2 1 3 1 3 5 5
29 5 3 |N\L—R—)L [DEBF|6 A 3 5 1 1 5 3 4
30 5 4 |INL—FR—)L |[DELF|6AH 3 5 1 1 4 3 5
31 5 1 |1K # REBF|# 1 5 2 1 4 6 3
32 5 2 |&x & REZF|# 1 5 4 2 1 6 3
33 5 3 |K & PEFF|F B 4 4 3 1 2 6 5
34 5 4 |1k 2 VELRF|H B’ 3 5 4 1 2 6 3
35 5 4 & B VELF|H & R 3 5 4 2 1 3 6
36 1 1 | # BF (MUY 2 4 3 1 2 4 -
37 1 2 |& & ZF |FSURYL 2 — 4 1 3 5 2
38 5 1 | =R7ybR— )L EBF 2 5 2 3 1 5 4
39 5 2 |N\RTYMNR—IL|BERF 2 2 4 3 5 5 1
40 5 3 |N\RTYMNR—L|DERF 3 4 1 2 3 5 5
41 5 4 |NRTYMR—L| DELKF 3 4 3 1 5 2 5
42 1 1 |9 DT 5 | REBRF 6 2 5 4 1 3 6 MBI & B B
43 5 1 |hoRR—L  |[HREBEF 2 3 1 3 5 5 1
44 5 2 |N\URR—)L | RELXTF 2 5 3 1 1 5 3
45 5 3 |N\URR—L | DEBEF 2 5 1 1 3 3 5
46 5 4 |N\URR—)L  |[DELRF 2 3 3 1 1 5 5
47 5 2 |VIrTFZ=R BERF 3 6 2 1 3 5 4
48 | 5 3 |VIbTF=R LERF 3 5 6 3 4 1 2
49 5 4 |VIbFZZ LELZF 2 6 1 2 3 4 5
50 3 1 |2 B BEBF 2 6 2 4 3 5 1
51 3 3 |= K LEBF 4 5 1 2 3 4 6
52 3 4 |8 Ek DELZF 2 4 6 1 2 5 3
53 | 8 1 |#AFER BESRF 4 4 1 1 1 5 5

1 1% e b 6 5 3 2 4 1 6 R BB
54 1 3 |8 LE  |RAEERB 1 1 5 2 3 4 —
55 3 2 |7zl | RERF 2 4 3 2 5 - 1
56 | 3 3 |zzovy | hEBRF 2 4 1 3 5 6 2
57 3 4 |2zl | VELRF 3 5 1 3 4 6 2
58 5 2 | & TF 3 2 3 4 1 6 5
59 | 5 3 | & LEBF 3 5 1 4 3 2 6
60 8 1 [vork—L | mESRF 2 5 3 2 1 4 5
61 8 2 [vorR—L  |EELRF 2 3 2 4 1 5 5
62 | 8 3 |VIbR—L (L EBTF 1 5 3 1 3 - 2
63 | 8 4 |vork—L | vERF 1 2 3 1 3 5 5
64 | 3 1 [/\RsURY BEBF 2 4 3 1 2 5 6
65 | 3 3 |/SRsUhY LEBF 4 1 4 2 3 6 5
66 3 4 |/SRsUhY LERF 2 3 4 1 2 5 6
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No. | 15 | FE5l it X [ iEH # WA AR KR S =R Fok L S
67 3 1|3 & BEBRF 3 3 5 2 4 1 6
68 | 3 2 |B & BERF 3 4 1 3 2 6 5
69 | 3 3 |B & LERF 2 1 6 3 2 4 9
70 | 3 4 |B @ DELF 2 4 5 2 3 1 6
71 1 1 [547L5%8 |REBF|FR3x40 2 5 2 3 1 4 6
72 | 1 1 |547L518 |BESEF|FR60PR 4 6 3 1 4 5 2

L [ 1 [+ [5onmm |mesFlareo [6] 2 [ 6 [ 1T | 3 [ 5 [ 4 [ eorr |
73 1 1 |54TL518 |[BESEF|AP60 3 4 2 1 5 6 3
74 | 1 2 [S4OLHE  |RELXF|RX40 2 1 5 2 4 6 3
75 1 2 |SATILEHE  |BELRF|ARGOW 3 1 5 4 2 3 6
76 1 2 |SA7LEE  |[BELF|AP6OW 3 1 3 2 4 6 5
77 1 3 |Z4OL5% | VEBEF|ARG0J 3 4 6 5 %! 2 1
78 1 3 [31o05% | LEBF|BR60J 2 1 4 2 5 3 6
79 1 3 |Z47L5%8 | LEBF[BP60J 3 2 4 5 3 1 —
80 1 4 |5A4TLEE  |[LELF|BR6OWY 2 1 4 5 3 2 —
81 1 4 |Z47LEE | LELXF[BPeOW 2 1 2 4 3 5 6
82 | 3 2 & & BELF 2 4 3 2 6 5 1
83 5 3 |& & DEBRF 2 5 6 3 1 2 4
84 5 4 |8 & DEZF 2 4 3 2 1 5 6
85 5 1 |svE—2orb—n|mEREF 2 5 3 3 1 5 1
86 5 2 |sve—ourk—n| &F 1 3 5 1 3 2 5
87 8 3 |37e—Turk—L | VEBRF 2 5 1 1 3 3 5
88 3 2 |rf—vos1z09 | HELF 2 - 5 1 2 4 3
89 3 3 |rE—vsS | LEBF 2 2 5 3 4 1 6
9 | 3 4 |rE—vsS Y| DERF 2 6 5 1 3 2 4
91 1 1 [Hhx— BREBF [hz-270ub hrvsvvsn| 3 3 5 6 4 1 2
92 1 1 |[px=— RAEBF 13-z wr7a7vvvrn| 3 2 3 — 4 5 1
93 1 1 [Ax— B4 B F [hz-250-4 nvvrvoyn| 3 4 1 3 2 — 5
94 1 1 |Hx— BAE B F [hx-250-4 sr57vovrn| 1 2 1 3 — 4 —
95 1 1 [hxX— R BB F [m3-04nboa-5— brohvosn| 1 2 — 4 5 3 1
96 1 2 |Hx— REZF|hR-R7Uub hyvsovrn| 2 3 2 5 4 — 1
97 1 2 |hxR— REZF [pz-2700h p35700 | 1 - #Z=iE 1 3 - 2
98 1 2 |hxX— RELZF [hz-250-4 hrosovsn| 2 1 3 — 2 — -
99 1 2 |Hx— REKF |hr-250-4 217700 n| 1 1 - - - - -

100 1 2 |[Hx=— RE LT D=4k 94—5— hrosovrn| 1 1 — — — — 2
101 | 1 3 |AX— DEEBF [h2-270b hrosvivsn| 4 4 2 - 5 3 1
102 | 1 3 |hx— LEBF|NR-R7YUb hrysaT| 1 1 4 — 2 3 5
103 | 3 3 |hx— DEBF[hR-R7YUb hrys747 | 1 1 4 — 2 5 3
104 1 3 |[hx— WEBF|h3-27U0k nFTarvovrn| 3 2 1 — 4 - 3
105 | 1 3 |hx— DEBF[H2-270b AFTATUAT| 1 3 2 — 4 — 1
106 | 1 4 [HX— DEZTF |32k s 3 1 3 - 4 EiE 2
107 | 1 4 |hx— DEZF|NR-R7YUh Drysa7| 1 1 4 — 3 — 2
108 | 3 1 |[7—FzV)— |REEF 3 5 6 1 3 4 2
109 | 3 2 |7—FzU— |m&EXRF 3 3 2 1 4 6 5
10| 3 3 |7—Fz)— |VEBF 2 4 5 1 2 6 3
M| 3 4 |7—Fx)— |LHFELKF 2 3 5 1 2 6 4
Mm2| 1 1 |Z=FE REBF [ 2 5 2 1 4 3 6
13| 1 2 |Z=FE BERF | 3 6 2 4 3 1 5
114 | 1 3 |Z=FE LEBTF|R 3 6 2 1 4 3 5
15| 1 4 |Z=F@ LELZF (R 2 5 3 1 2 4 6

L sl ifpr—mwe Trso5] Tel 6 | 4 [ 2 [ 5 [ 38 [ 1 [ eotr |

116 | 3 1 [yL—st% AF—hk 4 5 2 1 3 6 4
17| 3 4 |aEir LERF 4 6 3 1 4 2 5
18| 3 1 [Ryyos BEBF 3 3 4 2 5 6 1
119 | 3 2 |Ryvy BEZF 3 4 5 2 5! 6 1
120 3 P LEBF 2 5 4 3 1 — 2
121 3 4 |RoULy VERF 2 3 1 — 2 — —
122 3 | 3 |z DEBT 3 5 4 2 3 1 EiE
123 5 1 |7A4RRvr— |BEBF 4 2 4 1 3 6 5 H3OEERS

e R R A) 123 123 123 123 123 123
EHH(B) 293 45 60 72 54 30 32
ERE (B/A) (%) 36.6% 48.8% 58.5% 43.9% 24.4% 26.0%
RAE(C) 26 22 20 29 11 22
(B+C)/AZE 51.7% 66.7% 74.8% 67.5% 33.3% 43.9%




